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Puzzle Test for RBI Assistant Pre, IBPS Clerk Pre, SBI Clerk Pre, LIC
Assistant Pre and IBPS RRB Assistant Pre Exams.

PT Set No 208

Directions: Read the following information carefully and answer the questions given beside.

Seven persons — Rahul, Dhoni, Dhawan, Rohit, Kohli, Jadhav and Bumrah have their birthdays
in different months - January, March, May, June, September, October and December, but not
necessarily in the same order.

Kohli was born immediately after Dhawan. Dhoni was born in a month which is immediately
after the month which has less than 30 days. Only four people were born between Dhoni and
Bumrah. Rahul was born in a month which has more than 30 days. Only two persons were
born between Rahul and Rohit. The number of persons who were born between Jadhav and
Rohit is the same as the number of persons born between Rohit and Kohli. Rahul was born in a
month which comes after the month in which Rohit was born. Neither Rahul nor Rohit was
born in January.

1. Whose birthday is in the month of January?

A. Jadhav B. Bumrah C. Rohit D. Dhawan E. Kohli

2. How many persons born between Rohit and Bumrah?

A2 B.3 C.4 D. More than four E. None of these

3. How many persons are born after Dhawan?

A.1 B.2 C.3 D.4 E. None of these

4. Four of the following five are alike in a certain way and so form a group, who is the

one of them that does not belong to the group?

A. Jadhav B. Bumrah C. Rohit D. Dhawan E. Rahul

5. Which of the following statement is true?

A. Jadhav born immediately after Rohit B. Rahul has birthday in the last month of the year.
C. No one has birthday between Dhawan and Dhoni D. Dhoni born immediately after Jadhav.
E. All are true




Correct Answers:
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Common explanations :

References:

Dhoni born in a month which is immediately after the month which has less than 30 days.
Only four people are born between Dhoni and Bumrah

Inferences:

We know, that only in February we have less than 30 days and March comes just after February.From above
references it is clear that Dhoni Born in March and Bumrah born in December

Now, we arrange the following Inferences in the table.

Month Person
January (31)
March (31) Dhoni
May (31)
June (30)
September (30)
October (31)
December (31) Bumrah

References:

Rahul born in a month which has more than 30 days.
Only two persons are born between Rahul and Rohit.
Neither Rahul nor Rohit born in January.

Inferences:

From the first three references it is clear that Rohit and Rahul born in May or October.

Month Person
January (31)

March (31) Dhoni
May (31) Rohit/ Rahul
June (30)

September (30)
October (31) Rahul/Rohit
December (31) Bumrah




References:
Kohli born immediately after Dhawan.

The number of persons born between and Jadhav and Rohit is same as the number of person born between
Rohit and Kohli.

Rahul born in a month which comes after the month in which Rohit is born
Inferences:

After going through fourth reference we can conclude that Kohli born in September and Dhawan born in June
as this is the only possibility left.

From 2"%and 3™ reference it is clear that Rohit born in May, Rahul born in October and Jadhav born in
January.

Month Person
January (31) Jadhav
March (31) Dhoni

May (31) Rohit

June (30) Dhawan
September (30) Kohli
October (31) Rahul

December (31) Bumrah

Hence, this is the final arrangement.
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Answers :

1.

Following the common explanation, Jadhav's birthday falls in January.

Hence, option A is the correct answer.

Following the common explanation, we can see that, 3 persons born between Rohit and Bumrah.

Hence, option B is the correct answer.

As per the final solution, 3 persons are born after Dhawan.

Hence, option C is the correct answer.

Following the common explanation, Except Dhawan all have their birthdays in the months having 31
days.

Hence, option D is the correct answer.

Following common explanation, Dhoni born immediately after Jadhav is the correct statement.

Hence, option D is correct.
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